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CERTIFICATE IN PRIMARY 
EDUCATION 

Term-End Examination 

June, 2012 

CPE-4 : UNDERSTANDING THE PRIMARY 
SCHOOL CHILD 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : All questions are compulsory. All questions carry equal 
weightage. 

1. Answer the following question in about 600 words. 
The development of a child takes place through 
various stages. Mention the stages and describe 
child's social and emotional development during 
early childhood stage. 

OR 
What is meant by physical and motor 
development ? Discuss factors affecting child's 
physical and motor development during primary 
school years. 

2. Answer the following question in about 600 words. 
What is meant by disadvantaged home 
environment ? How does it affect a child's 
education ? 

OR 
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What is play ? How does it help in promoting 
child's social and cognitive development ? 

	

3. 	Answer any four of the following questions in about 
150 words each. 
(a) Explain the meaning of integrated 

personality. 
(b) What is moral development ? What should 

school do to ensure a child's proper moral 
development ? 

(c) Explain the meaning of child's 
psychological needs. 

(d) How are social and language development 
related to each other ? 

(e) What is handedness ? 	Does left 
handedness affect a person's personality. If 
so, why ? 

(f) Describe child's language development 
during pre-school years. 

	

4. 	Answer the following question in about 600 words. 
You are a teacher of class IV . Design four play 
activities for the language development of 
children. 
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